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ghenrfelalt & fore [A3or —

Instructions for the candidates :-

1, TRIeATdT AUTHNT J7U Weal H B SR G |
Candidates are required to give answers in their own words as
far as practicable.

2. qIfET IR BIRR R &y gU of gunies Fifde &= 2 |

Figures in the right hand margin indicate full marks.

3. 9 U3 Bl SFMYdd Y qUT Qe BT gureld & oy 15 e &1
faRed |\ & T 2 |
15 minutes of extra time has been allotted for the candidates to
read the questions and follow the instructions carefully.

4. I8 YTI—UA QI WSl § B, WUS—3I Ud TUs—9 |

This question paper has two sections: Section-A and Section-B.

5. Gus—31 H 42 GRS A €, G ¥ 35 UTAl B IR <A1 AR

2 (A 939 & fov 1 &iw uiRd 21), $96T SR SUal R T
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OMR—3e % f&¥ T W&l g Bl Blet /el dfcT U | a3 | fhdl 0

JHR & @eA /TR TRt /s /A4 3nfe &1 OMR e # UaRT
FRAT AT &, IIAT T URoTH M= 8T )

In Section-A, there are 42 objective type questions in which 35
questions are to be answered (Each carrying 1 mark) Darken the
circle with black/blue ball pen against the correct option on OMR
Sheet provided to you. Do not use Whitener/Liquid/Blade/Nail on
OMR Sheet, otherwise the result will be treated as invalid.

Gus—q H 18 IR—qWTS dgSNIY U 8, (&b & folv 2 3
fFeiRa 2) R & =81 10 we=l &1 SR <1 et 21 g9
faRad g9 @ve # 6 <19 ST w3 oy € (s @ oy 5 3@
FaiRa g | 9 9 f6=g 3 yedl &1 SR <1 e 2|

In Section-B, there are 18 Non-objective short answer type
questions (each carrying 2 marks) out of which any 10 questions
are to be answered. Apart from this there are 6 Long answer type
questions (each carrying 5 marks). Out of which 3 questions are

to be answered.

Pl UPR & Selaciivd SUHRYT BT TIRT QUITAT afoid & |

Use of any electronic appliances is strictly prohibited.



Yus—3 / Section —A

geqf~ss 939 / Objective Type Questions

U IT 1 W 42 db & TP Y3 & 91 IR fadpey fov v & 5949 9 s
TS 2 o8 O fhl 35 UTAl &1 SR o1 Sifard 21 59 Wvs § Ife P
qYeTTeft 35 YA I 3ifdih SR o § Al UUH 35 UTHl & SR Pl B Sird B |

35x1=35

Question No.- 1 to 42 have four options out of which one is correct.
Answer any 35 questions you to mark your selected option on the OMR
sheet. In this section if any candidate answers more than 35 questions then

first 35 answer will be evaluated. 35x1=35

1. famra o1 AR Rerg & —
A- SYH U 3T BT Sifdd GAT HfSH Uram ©
B- Su¥q &l ao Ifd & gIfaat 8l 2 |

C- SgH P g7a DR Pl IATHT AT 2 |

D- Sudad ¥+l 69 |
In the decline stage of Growth:

A. The enterprise finds itself difficult to survive.
B. The enterprise starts incurring losses at an-increasing rate.
C. The enterprise prefers to close its shutters.

D. All the above.



o= 3 9 wIm) o 6T SeExT & —

A. IeT FEUT ARTd
B. I I &rTd
C. BT Yseldh &I da-

D. & $19 < |

Which of the following is an example of fixed cost -

A. Direct material cost

C. Salary of office manager

TABE T § —

A. R
C. Jgdadl

Telephone expense is:-

A. Fixed

C. Semi Variable

T FOT UF BT &

A. oTcT: Rfer

C. aRgxfera

Naked debentures are -

A. Fully secured

B. Chargeable Expenses

D. Direct Labour cost

B. T

D. 598 & ®Ig &l

B. Variable

D. None of these

B. 3 R
D. 398 & ®Ig &

B. Partly secured



C. Unsecured D. None of these

IS §1vs Pl fagvar g —
A. ges A B. RO
C. 3MHY®H D. ¥ 9

The characteristics of a good brand is :-

A. Short Name B. Memorable

C. Attractive D. All the above
gt & —

A. 3rfrard B. 3mava®

C. Uz D. &9 &I qaial
Labelling is : -

A. Compulsory B. Necessary

C. Voluntary D. Wastage of money

g & forv fagor ?
A. 31fard B. 3maw®
C. 3T H D. fqerfaar

For business marketing is :-

A. Compulsory B. Necessary

C. Unnecessary D. Luxury

fauoe R =y fhar T g9 8§ —
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10.

11.

A. 99T B. 3MTaI®

C. TP R R D. fafars=

Money spent on marketing is :-

A. Wastage B. Unnecessary

C. Burden on customers D. Investment

UeT Icare H fAreferRad =RoT |fwford 28—
A. grIif® B. fgd®
C. dE® D. 9% 9 9

Following stages are included in indirect product :-

A. Primary B. Secondary
C. Tertiary D. All of these

Iaure AReor & Ag@qul uge] R § —
A. Idre =T B. ufthar fAieor
C. faRetor faweryor D. 9% 9 9

The important aspects of the product inspection are -

A. Production inspection B. Process inspection

C. Inspection analysis D. All of these

fear Y <91 & faprd ¥ 99 IMfdd MITIHAT B—
A. 31fore Fa1E= Bl B. arfefer wamer
C. HId &g & D. g9 ¥ &®Is 8l |



12.

13.

14.

The foremost need of development in a country is of

A. Physical resource B. Economic resources

C. Efficient management D. None of these

“Y§e Tdp UT B I8 HUT fhddr & i—
A TS 3R S B. 3mR&ol ydy TAIRTIH
C. e B D. S99 & $Ig 8

“‘Management is a profession”. This statement is of :-
A. George. R. Terry

B. American Management Association
C. Henary Fayol

D. None of these

UROTG i 1 Bl & -
A B B. &) 9 Had
C. 9151 JSil &l yraer= D. T& e grd™

Incentives are not concerned with:-

A. Rebate B. Exemption from tax

C. Provision of seed capital D. Lum-sum- payment

S 375 Uishar H AT 8 —

A. T B. gMTq

C. 3 fsha D. |41, AAMTE Ud 3gfhan



15.

16.

17.

Learning process involves:-

A. Drive

C. Response
M HERIT & —
A Raga

C. g: §Ta
Subsidiary is :-

A. Concession

C. Repayment

anfefe Nfaat MeiRa wval & —

A TIATT DY HHT

C. Iau™ &1 fa9m v #m=

B. Cue

D. Drive, Cue and Response

B. gee1

D. 574 ®Ig -TEi

B. Discount

D. None of these

B. adr™a a1 fazm

D. SR # & i T8l

Economic policies determine the :-

A. Volume of business

C. Direction and Volume of business

B. Direction of Business

D. None of these

ISR HATH DI DI AT Ted YATId ] BRAT & —

A. =T

C. fauore weuver

B. |& araRol

D. gfaarf

Which element does not affect market assessment -

A. Demand

B. Micro Environment



C. Market intermediaries D. Competitor

= § A B T IUH B YHIATT D AR D B —
A. URf™H—gd srawer B. URMM® rawen
C. I IR 3feved] D. aTe &1 gfg sravern

Which of the following is not a stage of starting a new venture.

A. Pre- start-up stage B. Start up stage

C. Product market stage D. Later growth stage

TP A% I H oraed & 4 o B =iy -
A S B B. frRi=T @1
C. auda+ &1 D. 399 ¥ |41

A successful entrepreneur must possess the following quality:-

A. Leadership B. Control
C. Innovation D. All of these

Ahel SUHH BT 3MAID T o—
A- GuRHIT HRImTd e
B- ywTayel fFrarer
C-Avd B i
D- SWjad 7 AR 4 B

Requisites of successful enterprise is :-

A. Well defined organizational goals B. Effective planning



21.

22.

23.

24,

C. Both Aand B

TS grar & —
A. 3cUebTeAT

C. Seieprei
Planning is-

A. Short term
C. Long term
RIS § —

A. TR

C. ¥9g &I §dial
Planning is -

A. Necessary

C. Wastage of time
IR @1 JT BT FEd 5
A. 91T &1 Jfdearoft

C. uff

Market demand is:-

A. Demand forecasting

C. Supply

SUHH P AT TR BT 8—

A. THTPHI AUR

10

D. Neither ‘A’ nor ‘B’

B. #eg®hIelA
D. 94 sraferay & forv

B. Medium term

D. For all the terms

D. &9 &I §dial

B. Unnecessary

D. Wastage of money

D. S99 9 &I &I |

B. Real demand

D. None of these

B. 984l &7 AfTHR



25.

26.

27.

C. el &1 W BT Iy D. SWad # & &g 78l
Selection of an enterprise depends on:-

A. Sole Trading B. Right of entrepreneur
C. Self ability of entrepreneur D. None of the above

R RIS & & 3a9q T

A. IIART BT 0 B. arfSremdT i
C. Avd B. TFi D. Atd B. aFl 7€l
The main components of business planning are:-

A. Business description B. Executive summary

C.Both Aand B D. Neither ‘A’ nor ‘B’

SUBROT B FHATONHROT § HHT Bl & —
A. 3maRe  qremall | B. a8y dramli |
C. TRGRY eIl | D. e et |

Lack of standardization of the equipment is due to -

A. Internal Constraints B. External constraints
C. Government barriers D. regulatory barriers.
foraer fagreryor gwfg g —

A. HfSrexor maeadand B. 9l maeaahdr

C. 9 IIIIHAN D. GO JMaIIHhdTy

Investment analysis deals with:-

11



A. Funding requirement B. Material requirement

C. Labour requirement D. Resource requirements
Y Yol &7 A T8l ® -

A. FOA BT A B. 3fam @1 e

C. RUIGTdl D. wRdg 3ffenfire faa v & ko

The source of fixed capital is not :-
A. Issue of debentures

B. Issue of shares

C. Creditors

D. Loan from Industrial Finance Corporation of India

frfeRad @ &9 IR g1 99T 8 —
A. =it B. urd faat
C. yded & D. 39eR

Which of the following is a non current asset?

A. Goodwill B. Bill receivable

C. Prepaid expense D. Debtors

facira Rerfer srgurd &1 |Ar=ga: gaRia fear Sidr g —
A. FTERY T B. ufcrerd

C. om D. 79 A ®Ig &l
Financial position ratio is generally shown in -

A. Simple ratio B. Percentage

12



31.

32.

33.

C. Times D. None of these

3TFI— TRIETOT 3IUTT @1 AT 1 | f=aforRa el § 9 a9 Al
HERT Bl &g | el T SAIe—

A iHs B. ur fqu=

C. e D. 379 & &g el

Which of the following assets is not taken into consideration in

calculating acid test ratio -

A. Cash B. Bills receivable

C. Stock D. None of these

TdeT Poll o—

A. T B B dTe] B. ORI ¥ & o &l

C. WI &M I3 Td TR A &M o adl & D. S99 9 PIg 781

Management is an art of:-

A. Doing work himself B. Taking work from others.
C. Both for doing work himself and taking work from others

D. None of these

a9 SdTeT AT add § gi—

A. U IdTeA B. 3Ue IIGH
C. Ut D. fgda®

Present production system infact is:-

13



34.

35.

36.

37.

A. Direct Production B. indirect Production

C. Primary D. Secondary

U el & —

A =g B. fesimas

C. 9M D. 379 & 9w

Brand indicates-

A. Symbol B. Design

C. Name D. All of these
AN NP AID & 8

A. FTUS B. efafeiT

C. Ui D. MR 1%
Maximum wide scope is of :-

A. Brand B. Labeling

C. Packaging D. Trade mark
3IfEAT 3fel W AT &% 8Kl T

A. Rer B. =

C. 3§ =d D. 5799 A ®Ig 78l
The rate of dividend on preference share is -

A. Fixed B. variable

C. Semi Variable D. None of these

IDBI &g a¥ zerfug o g off ?

14



38.

39.

40.

A. 1944 B. 1954
C. 1964 D. 1974

IDBI was established in which year ?

A. 1944 B. 1954

C. 1964 D. 1974

AT 2—

A IE d™ B. @ &1 fafvre

C. H=g 3y D. a1faaRa o &7 3fer
Dividend is -

A. Net profit B. Appropriation of profit

C. Reserve fund D. Part of undistributed profit

I AN BT ASAH IQTERTT B
A. ISl R 1 B. T arTa
C. o9 &x D. foxra

The best example of variable cost is -

A. Interest on capital B. Material cost
C. Wealth tax D. Rent
T TH ThAD 8

A S SUIT § fOwIR B=AT
B. 3r=g & # fafderdr &=

C. 3T SPhIs Bl Adx

D. GTed ®l IU SHhIsAT § dehr

15



41.

42.

Conglomeration is a technique to-

A. Expansion in the same industry B. Diversity in other areas

C. Taking over other units

D. Divide the organization in sub units

g & T B—
A 99T & ufe B. SRR & ufd
C. IR & Ufey D. 399 9 &

Responsibility of entrepreneur’s are -
A. Towards society B. Towards Government

C. Towards environment D. All of these

IRITSTHT TIR &1 ST 8-

A Yaddi gRT B. USdi gRT
C. SgHl gwT D. 39 9 & gRI
Project is prepared -

A. By Promoters B. By managers

C. By Entrepreneurs D. By all these.

16



Yvs — § / Section-B

AY a&qfiss 439 / Non-Objective Type Questions

oY S 939 / Short Answer Type Questions

Ue AT 1 9 18 OF oY ST B & U B | 399 W fh=ol 10 U & IR

< RS g & foy 2 s FeEiRd € | 10x2=20

Question no. 1 to 18 are Short answer type questions. Answer any 10

qguestions. Each question carries 2 marks. 10x2=20

1.

gde P gRareT 9 |

Define management.

AT BT Y T &7
What is the promotion of business?
JIUT BT IRHIT PN |

Define Ratio;-

ATefid STawR ar 9T & P

What is the sensing entrepreneurial opportunities?
HHART 3R IFHT o 91 B &7

How do entrepreneur different from employees?
iR a7 2

What is environment?

gafte grdreRoT =T 27

What is Micro - Environment?
17



10.

11.

12.

13.

14.

15.

16.

17.

18.

IHISTh Tedh T 87

What is social factor?
fr=sl g1 faaRoT HqeaRel} &1 g |

Name any two marketing intermediaries.

JISTR TTaROT & 3T AT TS &7
What do you mean by market environment?
TR fATeTooT & a7 Sfery 87

What is meant by market assessment?

IS SUHH B fdbval &l URUl B IaR |

Mention any two forms of business enterprises.

UMY BT gR9TRT & |

Define strategies.

HITeATHE RIS @I 57

What is organizational planning?

RIS &I ARG 9feHar w1 w8l Siar 27

Why planning is said to be mental process?
fafera fFrio & <1 920 Sew @ 27

What are two major objectives of financial planning?
IRASHT & I W U Afera og ford |

Write a brief note on selection of a project.
IRASTHT HedTh & FIT I3 272

What are the objectives of project assessment?

18



<" 9" 939 / (Long Answer Type Questions)

U9 G&IT 19 9 24 dd Sd IR hife & Y99 2 UAd Y99 P folu 5 3idp

fafRa €1 579 9 5=l 3 ys°i & SR < | 3x5=15

Question no. 19 to 24 are Long answer type questions. Answer any 3

questions. Each question carries 5 marks. 3x5=15

19.

20.

21.

22.

23.

24,

AETH U @ A= JdR SH—DIF ¥ 52
What are the different types of accounting ratios?
Hqfg & oAl Fa1 2?

What are the Growth strategies?

et & AT geR 9dTd |

Mention the different kinds of resources.

ol & fafi=1 garRl &1 auie & |

Explain the different kinds of capital.

DY JaTE faavor 1 27 3Ad At AT ARl Bl 9Ty |

What is fund flow statement? Discuss its merits and limitations.

" Y&y AT YA T 87 9 IR Bl e By |
‘Management and Administration are the same” Clarify this

concept.
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